Oliver Catalog: Super 99, 990, 995

20 - Fenders, Platform, Seat

| | | | | |1K942 Bumper, Seat
21 - Control Knobs & Grips
| M| 9| M| 9| M| 1030987 Knob, Lever
30 - Engine
B167 Plug, Oil Drain 7/8-18 UNS Hex Hd
B168 Seal, Oil Drain Plug 7/8
L] U] 106035A Seal, Oil Filter GM 3/4"
L] | L] C273 Rod End Kit, 1/4-28 Yoke Adjusting
1330 Cable, Choke and Shutoff - 84" long
1] (1] 1H432 Nut, Hex Brass 3/8 - 24 UNF
33 - Engine Exhaust Clamps
O | T3] ssc2620 Clamp, Exhaust 2.38 (2.420-2.620) - 2620
[] [] SSC3780 Clamp, Exhaust 3.50 (3.580-3.780) - 3780
34 - Engine Exhaust Rain Caps
| 0| &| O] @| & 1167 Rain Cap, 3" (3.00")
40 - Drive Train
O O [J] [J]1C298 Gasket, Filler Cap
1171 Sight Gauge, 3/4" NPT
105488A Breather Vent, 3/8 NPT
7A916 Cover, Shift Lever
50 - Hydraulics, Hitch
1303 Female Dust Cap, 1/2" Hydraulic Coupler black
1302 Male Dust Cap, 1/2" Hydraulic Coupler
U A O [ 1| P461 167019A Knob, Servo Valve Stop TPH
60 - Electrical, Lighting
| M| & @| M| & s710 SEMS Unit, No. 8 - 32 x 3/8 Rd Hd Slot

Tuesday, December 24, 2024 www.oliverhardware.com

Classic Tractor Hardware

S(S[9(9](9
9(9(5(9(9
9(9|0|(0(5
G Part No. Description Note
M
10 - Sheet Metal Hardware Kits
LI O W436 Hardware Kit, Sheet Metal
LI | ) w426 Hardware Kit, Sheet Metal
11 - Sheet Metal Parts
L] O] W437 Grille emblem hardware (SS screw) #3 screw 107320A and speed nut 105203A, included with
L] ] W438 Wing Bolt & Nut Kit, Grille wing bolt and speed nut for upper grille mounting; 2/tractor
1] O3] (31909092 Screw, 3/8 - 16 x 2-1/2 Slot Rd. Hd. Mach 99 grille strip, 2 per tractor; included with sheet metal hard
S2978 Screw, Drive No. 6 x 1/4 Rd Hd Brass nameplate, SS
13 - Button Plugs
1226 Plug, Button 1 Dia. Hole plated steel
1231 Plug, Button 1-3/16 Dia. Hole brake dust shield
14 - Grommets
IR 106332A Grommet, Rubber 11/16 OD x 7/16 ID; 1/16 Gr x 3/1 hydralectric lever
101537A Grommet, 13/16" OD X 3/8" ID 990 wiring
Ul d gl o 1E769 Grommet, Steering Column 2-1/8 OD x 1-1/2 ID x 1/1 steering column, PS reservoir; 2-1/8 OD, 1-1/2 1D, 7/16 th
LI O TA7362 Grommet, Rubber 11/16 OD x 3/8 ID; 1/16 Grx 1/2 h

transmission, PTO

engine oil drain

$3.00 Steel, $4.50 Alum

GM oil filters, Perkins oil drain plug; reuseable dual o-ring/
Throttle linkage; kit includes clevis pin, cotter pin, jam nut

Made in USA, 0.187 covered conduit, 0.062 SS core, upp

gas manifold

muffler; single bolt, pulls around for best seal
muffler; single bolt, pulls around for best seal

Donaldson: zinc plated; nylon stop for quiet operation

aluminum; transmission and open center hydraulic filler ca

filtered; upgrade for all models
SEBS80: 3hr9min, 35gm

Replaces 167019A; includes knob, 1/4--20 carriage bolt, I

electrical terminals, 2-digit; also S2553

Page 1 0f 2



S|S|9(9(9
9/9|5(9(9
9/]9|0(0(5
G Part No.
M
vl V| WI| M| v]]| 1206
V| V| V| V| V1124
61 - Fuses
L O 103427AS
L) O iv1| 106366A

70 - Steering

| 0| O] »| @] | 1E1567

71 - Steering Wheel Nuts
| v| ¥| @] | 91509

80 - Frame, Wheels
1300
1301

82 - Lube, Filters
| V| M| M| M| W 7Rs507

Tuesday, December 24, 2024

Description

Socket, Implement Light
Battery Mat, 8"x14"

Holder, Fuse - 10" wire, 14GA
Cap, Fuse Holder

O-ring, Steering Wheel Emblem (1/8 x 1-7/8 ID)
Nut, 3/4 - 16 Hex Jam UNF

Paint, Oliver Meadow Green
Paint, Oliver Clover White

Filter, Engine Oil - 3-71 GM

www.oliverhardware.com

Note

MM 10A4974, OL 101726A, 1K-7365, 1KA7365
protects battery tray, absorbs & neutralizes acid

instruments

w/o telescoping column on 4-digit models
steering wheel

12 oz. spray can
12 0z. spray can

99% efficient @ 20 micron

Page 2 of 2



